
SUGGESTED PARTS LIST

Product Line: SPEED.Pro™ SPEED.Pro™ COUNTERTOP

Product Code: XASR-03HS-SDDS
Document creation date: 08/18/2025

If several alternatives are available for the purchase of the same component, it is recommended to check compatibility with the oven model or accessory in question by carefully checking the kit
description in column 3. If you have any doubts, you can use the site chat or write to info@unox.com

Code Description Content Price

K0H4434A SPEED.Pro DOOR CHOKE SPARE PART KIT SPEED.Pro DOOR CHOKE WITH PINS (1 PZ), DOOR GASKET MW (1 PZ),
S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ), 544,00 $

K0H5272A MW DOOR MICROSWITCH HOOK KIT SPEED.PRO DOOR MICROSWITCHES HOOK (2 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (4 PZ), 41,00 $

KCE1065A 4P-500mm MICROFIT CABLE KIT 4x0.5 MICROFIT WIRE 4P-500mm-MICROFIT4P (1 PZ), 41,00 $

KCE2025A 1.1m MICROFIT 4PM-MICROFIT 4PF CABLE KIT 4PM-MICROFIT 4PF L=1100mm MICROFIT CABLE (1 PZ), 41,00 $

KCN1003A 6,3 uF MOTOR CAPACITOR KIT 6,3 Uf MOTOR CAPACITOR (1 PZ), M8x1.65 H4 CH13 ZINC PLATED
NUT (1 PZ), D8 INDENTED ZINC PLATED WASHER (1 PZ), 53,00 $

KCN1010A 3.5UF MOTOR CAPACITOR KIT
MOTOR CAPACITOR 3,5µF 450V,CE/UL,P CLASS (1 PZ), M8x1.65 H4
CH13 ZINC PLATED NUT (1 PZ), D8 INDENTED ZINC PLATED WASHER
(1 PZ),

44,00 $

KCR1130A SPEED.Pro LEFT HINGE KIT

SPEED PRO DOOR PIN BRACKET (1 PZ), SPEED PRO HINGE TIE ROD
WITH WASHERS (1 PZ), SPEED.PRO SHORT SPRING BRACKET +
WASHER (1 PZ), De24.4 H44 12 SPIR PULL SPRING (1 PZ), L0166
K0.38 Dm21.8 TRACTION SPRING (1 PZ), 4X16 SCREW FOR PLASTIC
(3 PZ), M5 UNI-1751 ST.STEEL SPRING WASHER (8 PZ), M5x10
TC1/2T SCREW (15 PZ), D 24 d 8 B 8 MW HINGE BEARING (2 PZ),
SPEED.PRO DOOR FULCRUM PIN (1 PZ), SPEED.PRO DOOR HOLDER
BEARING PIN (1 PZ), SPEED.PRO LEFT HINGE SET (1 PZ), MW HINGES
BALL-BEARING CARRIER (1 PZ),

462,00 $

KCR1131A SPEED.Pro COMPLETE RIGHT HINGE KIT

SPEED PRO DOOR PIN BRACKET (1 PZ), SPEED PRO HINGE TIE ROD
WITH WASHERS (1 PZ), SPEED.PRO SHORT SPRING BRACKET +
WASHER (1 PZ), De24.4 H44 12 SPIR PULL SPRING (1 PZ), L0166
K0.38 Dm21.8 TRACTION SPRING (1 PZ), 4X16 SCREW FOR PLASTIC
(3 PZ), M5 UNI-1751 ST.STEEL SPRING WASHER (8 PZ), M5x10
TC1/2T SCREW (15 PZ), D 24 d 8 B 8 MW HINGE BEARING (2 PZ),
SPEED.PRO DOOR FULCRUM PIN (1 PZ), SPEED.PRO DOOR HOLDER
BEARING PIN (1 PZ), SPEED.PRO RIGHT HINGE SET (1 PZ), MW
HINGES BALL-BEARING CARRIER (1 PZ),

462,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 1/4

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KDR1370A SPEED.Pro COMPLETE DROPDOWN DOOR KIT

SPEED PRO DOOR PIN BRACKET (2 PZ), SPEED.PRO CHOKE PRE SET
(1 PZ), SPEED PRO HINGE TIE ROD WITH WASHERS (2 PZ), SPEED.Pro
DOOR CHOKE WITH PINS (1 PZ), SPEED.PRO DOOR FRONT PLATE (1
PZ), 0H5269A2 (1 PZ), 0H5270A2 (1 PZ), SPEED.PRO DOOR
MICROSWITCHES HOOK (2 PZ), MM MICROFIT LED BAR POWER
SUPPLY CABLE (1 PZ), DOOR GASKET MW (1 PZ), SPEED PRO RGB
LED BAR (1 PZ), MW HANDLE TUBE (1 PZ), 4X16 SCREW FOR PLASTIC
(6 PZ), 4X16 SCREW FOR PLASTIC (14 PZ), 4,2x12 TCB SELF-TAPPING
SCREW (1 PZ), 4,2x12 TCB SELF-TAPPING SCREW (8 PZ), 4.2X9.5
CROSS ZN-NI SELF-THREADING SCREW (18 PZ), ANTI-ROTATION
M5X0.8 H6 ZN NUT (20 PZ), 5X40 ST. STEEL SCREW FOR PLASTIC (4
PZ), SHEETTRACS TCB+ 40x8 SELF-THREAD SCREW (3 PZ), D 24 d 8 B
8 MW HINGE BEARING (4 PZ), SPEED.PRO DOOR FULCRUM PIN (2 PZ),
SPEED.PRO DOOR HOLDER BEARING PIN (2 PZ), BAKERLUX SHOP.PRO
HANDLE END (2 PZ), VM2966A0 (1 PZ), MW DOOR LEFT UPPER CAP (1
PZ), MW DOOR RIGHT UPPER CAP (1 PZ), MW DOOR LEFT LOWER CAP
(1 PZ), MW DOOR LEFT LOWER CAP (1 PZ), MW DOOR RIGHT LOWER
CAP (1 PZ), MW DOOR RIGHT LOWER CAP (1 PZ), MW HINGES BALL-
BEARING CARRIER (2 PZ),

1730,00 $

KGN1432B XESW-03HS DOOR SEAL KIT DOOR GASKET MW (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1
PZ), 488,00 $

KGN1569A GAS TORCH SEALINGS KIT

PREMIX BLOWER-SUPPORT GASKET (2 PZ), GAS PIPE 1"GAS FITTING
ALLUMINIUM WASHER (4 PZ), PREMIX START-UP PLUG GASKET (6
PZ), "3/4"" GAS PIPE ALLUMINIUM WASHER" (4 PZ), TORCH-CHAMBER
SEALING (2 PZ), O-RING NBR 2087 21,95x1,78 (2 PZ), TORCH LOWER
SEALING (2 PZ), STAINLESS STEEL WASHER D=6 6592 (6 PZ),

130,00 $

KLP1055A SPEED PRO RGB LED BAR KIT
MM MICROFIT LED BAR POWER SUPPLY CABLE (1 PZ), SPEED PRO
RGB LED BAR (1 PZ), MM 230x450 PINK ESD AIRBALL BAG (0 PZ),
VM2966A0 (1 PZ),

225,00 $

KML1018B SPEED.PRO DOOR SPRING 2PCS KIT De24.4 H44 12 SPIR PULL SPRING (2 PZ), 67,00 $

KML1019A SPEED.PRO HINGE SPRINGS KIT L0166 K0.38 Dm21.8 TRACTION SPRING (2 PZ), 105,00 $

KMR1004A \FTW 1+2+3/4+5+6 TERMINAL BLOCK KIT 41A 450V 7 POLES TERMINAL (1 PZ), 49,00 $

KMT1012A LUX >08.2017 / MIND.MAPS 330W MOTOR KIT

MT1012 CENTERING JIG (1 PZ), XEVL MOTOR SHAFT DISC (1 PZ),
MOLDED MOTOR HOLDER GASKET (1 PZ), 330W 230V MOTOR (1 PZ),
SCREW M6x12 TE INOX (1 PZ), STAINLESS STEEL WASHER D=6 6592
(1 PZ), M4x14 FLATHEAD SCREW (1 PZ), MAGNET SET FOR MOTOR
REVOLUTIONS SENSOR (1 PZ),

510,00 $

KPE1438A SPEED.Pro CAPACITIVE CONTROL BOARD KIT
4,7nF-EYELET 4PM-COND MICROFIT CABLE (1 PZ), SPEED.Pro
CAPACITIVE CONTROL BOARD (1 PZ), 5x20 ST. STEEL CHIP SCREW (2
PZ), MM 230x450 PINK ESD AIRBALL BAG (1 PZ),

1223,00 $

KPE2152B MAGNETRON POWER BOARD KIT MAGNETRON POWER BOARD (1 PZ), AUTOTHREADING SCREW 4,2x19
TCB+ INOX (3 PZ), MM 230x450 PINK ESD AIRBALL BAG (1 PZ), 364,00 $

KPE2260A BLSP/SPEED.PRO/ZERO 230V POWER CARD KIT

BLSP/SPEED.PRO/ZERO 230V POWER BOARD (1 PZ),
AUTOTHREADING SCREW 4,2x19 TCB+ INOX (3 PZ), POWER BOARD
FRAME SHOP.PRO (1 PZ), MM 230x450 PINK ESD AIRBALL BAG (1 PZ),
JOINT-JOINT H10 BOARD FIXING CLIP (6 PZ),

385,00 $

KRS1018A SPEED.PRO HEATING ELEMENT KIT

MW HEATING ELEMENT PLATE (1 PZ), 141X22 G8.5 ELEMENT ARMED
GASKET (1 PZ), 2x1600W 230V+210W CIRCULAR HEAT. ELEMENT (1
PZ), SCREW M6x12 TE INOX (3 PZ), 4,2x12 TCB SELF-TAPPING SCREW
(6 PZ),

385,00 $

KTB2843A SPEED.Pro DROP DOWN DOOR HANDLE TUBE KIT MW HANDLE TUBE (1 PZ), 5X40 ST. STEEL SCREW FOR PLASTIC (4
PZ), BAKERLUX SHOP.PRO HANDLE END (2 PZ), 118,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 2/4

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KTR1002A PT100 L1000 UL TEMPERATURE PROBE KIT
NTC TEMPERATURE PROBE SEALING (1 PZ), S57 BLACK SILICONE -
80ml CARTRIDGE (1 PZ), TR1002A1 (1 PZ), 4,2x12 TCB SELF-TAPPING
SCREW (2 PZ), CT BT TEMPERATURE PROBE COVER (1 PZ),

195,00 $

KTR1136A 318°C -0/+24 SAFETY THERMOSTAT KIT

XEVL BULB PASS-THROUGH COVER (1 PZ), THERMOSTAT BULB INLET
SEALING (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ), 318°C
-0/+24 1 POLE SAFETY THERMOSTAT (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (3 PZ),

157,00 $

KTR1164A SPEED.PRO THERMOSTAT KIT 10AMP 90°C NC SNAP ACTION THERMOSTAT (1 PZ), 71,00 $

KVE1115A 20A 230V 4 POLES MINICONTACTOR KIT 20 A 230V 4 POLES MINICONTACTOR (1 PZ), PLASTIC CLIP TO FIX
CONTACTORS (4 PZ), 105,00 $

KVE1295A 16A 230V DOOR MICROSWITCH KIT MK 16A 230V DOOR MICROSWITCH (1 PZ), 66,00 $

KVE1632A 10x38 32A FUSE HOLDER KIT MONOPOL SECTION FUSE HOLDER 10x38 32A (1 PZ), 49,00 $

KVE1800A 1080W MAGNETRON KIT 4-SB 2M303 1080W MAGNETRON (1 PZ), 410,00 $

KVE1810A SPEED.Pro HV DIODE KIT 750mAmp 16kV HIGH VOLTAGE DIODE (1 PZ), 92,00 $

KVE1820A SPEED.Pro DOOR MICROSWITCH 2PCS KIT

SPEED.PRO DOOR MICROSWITCH FIXING (2 PZ), IE3620A0 (1 PZ),
IE3621A0 (1 PZ), MW NO-NC BIPOLAR MICROSWITCH (1 PZ), MW NO-
NO BIPOLAR MICROSWITCH (1 PZ), SHEETTRACS TCB+ 40x8 SELF-
THREAD SCREW (4 PZ), MW MICROSWITCH SUPPORT (2 PZ), MICRO
MW FIXING CAP (4 PZ),

195,00 $

KVE1856A 62.82 CE-UL 230V 16A SPDT 2P RELAIS KIT 62.82 CE-UL 230V 16A SPDT 2P RELAIS (1 PZ), 118,00 $

KVM1443A SPEED.Pro CATALYTIC CONVERTER 2PCS KIT M6x8 ST STEEL CROSS PAN HEAD SCREW (4 PZ), SPEED.Pro
CATALYTIC CONVERTER (2 PZ), 689,00 $

KVM1631A CAP FOR INTERNAL GLASS 10 PCS KIT PLUS INNER GLASS PUSHING CAP (10 PZ), 44,00 $

KVM2456A 2 PCS BAKERLUX SHOP.PRO HANDLE END KIT 5X25 STAINLESS STEEL SCREW (4 PZ), BAKERLUX SHOP.PRO
HANDLE END (2 PZ), 58,00 $

KVN1035B LINEMISS / LINEMICRO MOTOR KIT

13x5.5x0.8 FLAT WASHER (3 PZ), SHAFT GASKET D8 (1 PZ), M6x16
H6 CH10 STAINLESS STEEL NUT (1 PZ), 18x6.4x1.5 STAINLESS STEEL
FLAT WASHER (1 PZ), VITE M6x12 TE FLANGIA LISCIA NICHELATA (3
PZ), LINE MISS 230 VAC MOTOR (1 PZ),

385,00 $

KVN1130A LUX ≤08.2017/L.MISS/S.5/5E MOTOR KIT

XEVL MOTOR SHAFT DISC (1 PZ), MOLDED MOTOR HOLDER GASKET
(1 PZ), STAINLESS STEEL WASHER 8.4x16x1 (1 PZ), M8 DIN 980M ST.
STEEL SELF LOCKING NUT (1 PZ), MOTOR NUT FASTENING BUSHING
(1 PZ), 330W 230V 50/60HZ MOTOR (1 PZ),

535,00 $

KVN1165A MM/S.5E ADV 230V COOLING FAN KIT SELF-DRILLING SCREW 4.8X13 TCB+ ZN (4 PZ), CT BT COOLING FAN
SUPPORT (1 PZ), 230Vac 50/60Hz COOLING DOWN FAN (1 PZ), 182,00 $

KVN1171A D195 H60 8 BLADES M8 NUT FAN KIT SCREW M6x12 TE INOX (1 PZ), STAINLESS STEEL WASHER D=6 6592
(1 PZ), D195 H60 8 BLADES FAN (1 PZ), 255,00 $

KVN1179A CONTROL BOARD COOLING FAN KIT CONTROL BOARD 40x40x20mm 12V COOLING FAN (1 PZ), 71,00 $

KVN1182A SPEED.Pro COOLING FAN KIT AUTOBLOCKING NUT STAINLESS STEEL (1 PZ), M6 NUT 24 BLADES
H60 D120 FAN (1 PZ), 209,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 3/4

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KVP1024A SPEED.Pro DOOR LEFT LOWER CAP KIT MW DOOR LEFT LOWER CAP (1 PZ), 36,00 $

KVP1025A SPEED.Pro DOOR RIGHT LOWER CAP KIT MW DOOR RIGHT LOWER CAP (1 PZ), 36,00 $

KVP1027A MW DOOR MICROSWITCH HOLDER 2 PCS KIT SHEETTRACS TCB+ 40x8 SELF-THREAD SCREW (4 PZ), MW
MICROSWITCH SUPPORT (2 PZ), MICRO MW FIXING CAP (4 PZ), 36,00 $

KVP1049A SPEED.Pro AIR OUTLET GRID KIT SHEETTRACS TCB+ 40x8 SELF-THREAD SCREW (1 PZ), MICRO MW
FIXING CAP (1 PZ), MW AIR OUTLET GRID (1 PZ), 28,00 $

KVP1077A SPEED.Pro HINGES BEARING HOLDER KIT MW HINGES BALL-BEARING CARRIER (1 PZ), 28,00 $

KVP1891A SPEED.PRO COMPLETE FRONT PANEL KIT SPEED.PRO COMPLETE FRONT PANEL (1 PZ), 157,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 4/4

https://www.unox.com/
mailto:info@unox.com

